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#include <stdio.h>
void critic(int * u);
2int main(void)
{
int units; /* units now local , extern int units; */
printf("How many pounds to a firkin of butter?\n");
scanf("%d", &units);
while (units != 56)
critic(&units);
printf("You must have looked it up!\n");
return 9;
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svoid critic(int * u)

{

printf("No luck, my friend. Try again.\n");

scanf("%d", u); I{IEW many pounds to a firkin of butter?

} . "
2// or use a return value: EEIUCk’my friend. Try again.

// units = critic(); You must have looked it up!
// and have critic look like this:

_/*
int critic(void)

{

int u;

printf("No luck, my friend. Try again.\n");
scanf("%d", &u);

return u;
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02 //pel2-2b.c

// pel 12-2a.cot ghH| HutU5tzt.

#include <stdio.h>

#include "pel2-2a.h"

int main(void)

scanf("%d", &mode);
printf("&&.\n");

return O;
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// pel2-2a.h
#define METRIC ©

#define US 1

void set _mode(int m);
void get info(void);

void show_info(void);
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-#include <stdio.h>

#include "pel2-2a.h”

static int mode = METRIC;

static double distance;

static double fuel;

const char modestr[2][10] = { "Metric", "US" };
-void set _mode(int m)

{

1
2
3
4
5
6
/
8
S

if (m == METRIC || m == US)
mode = m;

else

{
printf("Invalid mode specified. Mode %d", mode);

printf("(%s) used.\n", modestr[mode]);




‘void get_info(void)

{

if (mode ==

printf("Enter distance traveled in kilometers: ");

else

printf(’

scanf("%1f",

if (mode ==

printf(’

else

printf(’
scanf("%1f",

METRIC)

'Enter distance traveled in miles: ");

&distance);
METRIC)

'Enter fuel consumed in liters: ");

'Enter fuel consumed in gallons: ");

&fuel);
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-void show info(void)

{

printf("Fuel consumption is ");

if (mode == METRIC)

printf("%.2f liters per 100 km.\n", 100 * fuel / distance);
else

printf("%.1f miles per gallon.\n", distance / fuel);
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1// pel2-2b.c

// compile with pel2-2a.c

-#include <stdio.h>

#include "pel2-2a.h”

sint main(void)

{

int mode;
printf("Enter @ for metric mode, 1 for US mode: ");
scanf("%d", &mode);

17



while (mode >= @)

{
set_mode(mode);
get info();
show_info();

printf("Enter @ for metric mode, 1 for US mode");
printf(" (-1 to quit): ");
scanf("%d", &mode);

¥
printf(“Done.\n");

return 0;
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Eesdycass b . G SR

Enter 0 for metric mode, 1 for US mode: O

Enter distance traveled in kilometers: 600

Enter fuel consumed in liters: 78.8

Fuel consumption is 13.13 liters per 100 km.

Enter 0 for metric mode, 1 for US mode (-1 to quit): 13.13
[nval id mode specified. Mode O(Metric) used.

Enter distance traveled in kilometers: Enter fuel consumed in liters: 1
Fuel consumption is 769.23 liters per 100 km.

Enter 0 for metric mode, 1 for US mode (-1 to quit): 434
[nval id mode specified. Mode O(Metric) used.

Enter distance traveled in kilometers: 12.7

Enter fuel consumed in liters: b4.7

Fuel consumption is 426.77 liters per 100 km.

Enter 0 for metric mode, 1 for US mode (-1 to quit): 3
[nval id mode specified. Mode O(Metric) used.

Enter distance traveled in kilometers: 388

Enter fuel consumed in liters: 15.3

Fuel consumption is 3.94 liters per 100 km.

Enter 0 for metric mode, 1 for US mode (-1 to quit): -1
Done.,

19



03

063 - AR ST

L2 A5Q0| Z=13MS TFA| 2A[s2t.

O[HOll= XIS Ha-RE ALE5lt

CRAl 2AE Z2 - E SEoh AFSA} QIEH|[0|AS 7H40F 9Tt
AMHEA7H EES A=5HH,

MEHSE R EO 257 HIo|EHE YHSIE=S AFSALS tUllstd,
Az AH|S Altrsto] S=sHOF 2ty

LS HaeS AHESHOF stEE 24 50| FekM0F = J10|0

20



//pel2-3a.h
#define METRIC ©

#define US 1

#define USE_RECENT 2

void check _mode(int *pm);

void get info(int mode, double * pd, double * pf);

void show_info(int mode, double distance, double fuel);
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2// pel2-3a.c

// compile with pel2-3b.c

-#include <stdio.h>

#include "pel2-3a.h”

-void check_mode(int *pm)

{
if (*pm !'= METRIC && *pm != US)

{
printf("Invalid mode specified. Mode %d\n", *pm);
printf("Previous mode will be used.\n");
*pm = USE_RECENT;
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15 =void get_info(int mode, double * pd, double * pf)

16 |{
17
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if (mode == METRIC)
printf("Enter distance traveled in kilometers: ");

else

printf("Enter distance traveled in miles: ");
scanf("%1f", pd);
if (mode == METRIC)

printf("Enter fuel consumed in liters: ");
else

printf("Enter fuel consumed in gallons: ");
scanf("%1f", pf);
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-void show_info(int mode, double distance, double fuel)

{

printf("Fuel consumption is ");

if (mode == METRIC)

printf("%.2f liters per 1060 km.\n", 100 * fuel / distance);
else

printf("%.1f miles per gallon.\n", distance / fuel);

24



// compile with pel2-3a.c
“#include <stdio.h>
#include "pel2-3a.h”

-int main(void)

int mode;

int prev_mode = METRIC;

double distance, fuel;

printf("Enter @ for metric mode, 1 for US mode: ");
scanf("%d", &mode);
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while (mode >= 0)
12 {
13 check_mode(&mode) ;
14 if (mode == USE_RECENT)
15 mode = prev_mode;
16 prev_mode = mode;
17 get _info(mode, &distance, &fuel);
18 show info(mode, distance, fuel);
19 printf("Enter © for metric mode, 1 for US mode™);
20 printf(" (-1 to quit): ");
21 scanf("%d", &mode);
22 }
23 printf("Done.\n");
24 return 0;
25 |}




TR M

Enter 0 for metric mode, 1 for US mode: O

Enter distance traveled in kilometers: 600

Enter fuel consumed in liters: 78.8

Fuel consumption is 13.13 liters per 100 km.

Enter 0 for metric mode, 1 for US mode (-1 to quit): 13.13
[nval id mode specified. Mode O(Metric) used.

Enter distance traveled in kilometers: Enter fuel consumed in liters: 1
Fuel consumption is 769.23 liters per 100 km.

Enter 0 for metric mode, 1 for US mode (-1 to quit): 434
[nval id mode specified. Mode O(Metric) used.

Enter distance traveled in kilometers: 12.7

Enter fuel consumed in liters: b4.7

Fuel consumption is 426.77 liters per 100 km.

Enter 0 for metric mode, 1 for US mode (-1 to quit): 3
[nval id mode specified. Mode O(Metric) used.

Enter distance traveled in Kkilometers: 388

Enter fuel consumed in liters: 15.3

Fuel consumption is 3.94 liters per 100 Kkm.

Enter 0 for metric mode, 1 for US mode (-1 to quit): -1
Done.
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2 int callme(void);
3 =2int main(void)

int i, lim, count;

printf("Enter number of loops: ");
scanf("%d", &lim);

for (1 = 0; i < lim; i++)

callme();

count = callme();

printf("Function was called %d times in loop and once afterwards.
count - 1);

return 0;




/* keeps track of the number of times it was called */

sint callme(void) [Eo oL
{ Function was called 3 times in loop and once afterwards.

static int called = 0;

return ++called;
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‘#include <stdio.h>
#include <stdlib.h>
void print(const int array[], int limit);
void sort(int array[], int limit);
#define SIZE 100
sint main(void)
{
int 1i;
int arr[SIZE];
for (i = @; i < SIZE; i++)
arr[i] = rand() % 10 + 1; // 1 ~ 10 L=
puts("initial array");
print(arr, SIZE);
sort(arr, SIZE);
puts("\nsorted array");
print(arr, SIZE);
return 9;
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/* sort.c -- sorts an integer array in decreasing order */
svoid sort(int array[], int limit)

{

int top, search, temp;

for (top = 0; top < limit - 1; top++)

for (search = top + 1; search < limit; search++)
if (array[search] > array[top])

{

temp = array[search];
array[search] = array[top];
array[top] = temp;
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/* print.c -- prints an array */
-void print(const int array[], int limit)
{
int index;
for (index = ©@; index < limit; index++)

{

printf("%2d ", array[index]);
if (index % 10 == 9)
putchar('\n");

}
if (index % 10 != @) // if last line not complete

putchar('\n");
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‘#include <stdio.h>

#include <stdlib.h>

void print(const int array[], int limit);
#define LIMIT 1000

#define DIGITS 10

#define SEEDS 10

sint main(void)

{
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int 1i;
int counts[DIGITS];
int cumul[DIGITS] = { @, @0, 0, ©, 0, 0, O, 0, O };
int seed;
int val;
printf(“Seed ");
for (i = 1; i <= DIGITS; i++)
printf("%3d ", i);
putchar('\n");
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for (seed = 1; seed <= SEEDS; seed++)

{

srand(seed);

for (i = @; i < DIGITS; i++)
counts[i] = ©;

for (1 = 0; i < LIMIT; i++)

{
val = rand() % 10 + 1;

counts[val - 1]++;
cumul[val - 1]++;
}
printf("%3d ", seed);
print(counts, DIGITS);

38



printf("Average for %d seeds\n", SEEDS);
for (i = ©; 1 < DIGITS; i++)

cumul[i] /= SEEDS;
printf("ave ");
print(cumul, DIGITS);
return 9;
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/* print.c -- prints an array */
svoid print(const int array[], int limit)
{
int index;
for (index = ©@; index < limit; index++)

{

printf("%3d ", array[index]);
if (index % 10 == 9)
putchar('\n");

}
if (index % 10 != @) // if last line not complete

putchar('\n");
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“#include <stdio.h>
#include <stdlib.h> /* for srand() */
#include <time.h> /* for time() */
int rollem(int);
-int main(void)
{
int dice, count, roll;
int sides;
int set, sets;
srand((unsigned int)time(Q)); /* randomize rand() */
printf("Enter the number of sets; enter g to stop: ");
while (scanf("%d", &sets) == 1)
{
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printf("How many sides and how many dice? ");

if (scanf("%d %d", &sides, &dice) != 2)

{
puts("not integers -- terminating input loop.");
break;




printf("Here are %d sets of %d %d-sided throws.\n", sets, dice, sides);
for (set = 0; set < sets; set++)

{

for (roll = 0, count = ©@; count < dice; count++)
roll += rollem(sides);

/* running total of dice pips */

printf("%4d ", roll);

if (set % 15 == 14)

putchar('\n");
}
if (set % 15 != 0)
putchar('\n');
printf("How many sets? Enter g to stop: ");

}
puts("GOOD FORTUNE TO YOU!\n");

return 0;
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-int rollem(int sides)

{

int roll;

roll = rand() % sides + 1;

return roll;

}

Enter the number of sets; enter g to stop: 18

How many sides and how many dice? 6 3
Here are 18 sets of 3 6-sided throws.
16 11 13 11 7 10 11

11T 10 11
How many sets? Enter q to stop: Q
GOOD FORTUNE TO YOU!

6

13

13
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// pel2-8.c

#include <stdio.h>

int * make_array(int elem, int val);

void show_array(const int ar[], int n);

int main(void)

return O;
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-#include <stdio.h>

#include <stdlib.h>
int * make_array(int elem, int val);
void show_array(const int ar[], int n);

sint main(void)

{
int * pa;
int size;
int value;
printf("Enter the number of elements: ");
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while (scanf("%d", &size) == 1 && size > 0)
{

printf("Enter the initialization value: ");
scanf("%d", &value);

pa = make_array(size, value);

if (pa)

{

show array(pa, size);
free(pa);

}
printf("Enter the number of elements (<1 to quit): ");

}
printf(“"Done.\n");
return 9;




-int * make_array(int elem, int val)

{

int 1i;

int * pt = (int *)malloc(elem * sizeof(int));
if (pt)
for (i = 0; i < elem; i++)
pt[i] = val;
return pt;
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-void show array(const int ar[], int n)

{

for (i = 9; i < n; i++)
{
printf("%6d ", ar[i]);
if (i % 8 == 7)
putchar('\n");
}
if (i % 8 !'=09)

putchar('\n");

Enter the number of elements: b
Enter the initialization value: 5

5 5 5 5 5
Enter the number of elements (X1 to quit): 2
Enter the initialization value: 9

9 9
Enter the number of elements (X1 to quit): -1
Done.
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How many words do you wish to enter? 5
Enter 5 words now:

I enjoyed doing this exerise

Here are your words:

I

enjoyed

doing

this

exercise
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-#include <stdio.h>

#include <stdlib.h>
#include <string.h>
#tdefine MAX 31

sint main(void)

{
int words, 1i;
char temp[MAX];
char ** ptr_str;
printf("How many words do you wish to enter? ");
scanf("%d", &words);

ptr_str = (char **)malloc(words * sizeof(char *));
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printf("Enter %d words now:\n", words);
for (i = 9; i < words; i++)
{
scanf("%30s", temp);
ptr_str[i] = (char *)malloc(strlen(temp) + 1);
strcpy(ptr_str[i], temp); RRELR CCEED TR IEIRCR- G
} Enter 3 words now:
vision
h
puts("Here are your words:"); D?EZ;

for (i = 0; i < words; i++) Here are your words:
{ vision

puts(ptr_str[i]); happy
Dream

}

return 9;
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= int *pt ;
= pt = (int *) malloc(max * sizeof(int);
* free(pt)







Thank you !
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